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QUESTION NO: 4 Hoplg ity f ez

(1) What is the meaning of ;

e (a) AADT () ADT {¢) DHV (Y LOS

(2). What are the main components of traffic system 2

(3) What are the basic types of sight distances?

{4) Average daily traffic is not used in the geometric highway design. Why? Use graphs

to show your answer ?

(5) A car hits a tree at an estimated speed of 56 km/h on a 3% downgrade. If skid marks
of 30 m are observed on dry pavement (F = 0.45), followed by 75 m (F=0.20) on a
grass-stabilized shoulder, gstimate the initial speed of the vehicle just before the
pavement skid was begun

QUESTION NO:5 gy Gl )

[6}] m_n_gj_skﬁghgﬁ,_gxmgm_the relatlonshxps between
a) Space mean speed (Us) and Density (K)
b) Flow rate () and Density (K)
¢) Space mean speed (Us) and Flow (Q)
(2} The following table show the results of traffic counts for a rural highway at each 30

minutes intervals during two hours .Calculate flow rate , and the peak hourly factor
sthen comment on your result.

Time 7-7.30 7.30-8.0 8.0- 8.5 8.5-9

Count (veh) 1075 925 1000 1010

(3) A simple of data collected for a portion of highway indicate that the maximum free
flow was 2000 vph and the jam density was 100 veh/km .Determine the free flow
speed on the portion of the highway ,Then construct a linear relationship between the
space mean speed and the densnty for this portmn of hlghway

QUESTION NO:6 e i LB DA

(1) Mention three methods by wluch we can control mtersectlos
{2) For the shown intersections in FIG(1) & FIG(2) ,with net sketches, calculate the

bier: of conflict voi

|

FIG.(1)

king arking , if the street pavement width is 80
ft. and street is 4 lanes ,a lane wndth is 11 ft JIf the average parking time 6 hours at day
time and 8 hours at night , and the length of parking space 880 ft . Consider the daytime
is 10 hours and night is 14 hours .

Knowing that If:
Parking width (ft) 18 26 36
Angle ' 0 30 45
No of parking places N=(1/22) N=(L - 2.8)/17 N=(L- 6.7)/12
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